I’m working through chapter 6 of Measure, Integral, and Probability by Capinski and Kopp. One of their proofs claims that cylinders are contained in rectangles, but don’t see it: That is:

Say you have two measure spaces: 
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It does not seem right to me to say that
[image: image5.wmf]CR

Ì

.
The way I understand it, an intuitive explanation of why the conclusion that  
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 can’t be right can be seen with the following obvious example:
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If 
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, it follows that
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Clearly, 
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Did they mess up or am I missing something really obvious?
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